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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly
struck off.
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Q1.

Q2.

Q3.

Q5.

Q6.

Q7.

Qs.

FeTpa T TR WA FT T 3E F 99 F 27 Agql @t 4 ] @
gt =t @ | faamm Sifse | (150 w81 ® s i)

The rock-cut architecture represents one of the most important sources of our
knowledge of early Indian art and history. Discuss. (Answer in 150 words)

ara # g o % 3fagm ¥ ura el weeaget = ® | frgewor fifvm

(150 wrsgt & IR Fifore)
Pala period is the most significant phase in the history of Buddhism in India.
Enumerate. (Answer in 150 words)

ATE Fala i fifert v T A W ITh U yTEl 1 gedieh i |

(150 weg} ® I difr)
Evaluate the policies of Lord Curzon and their long term implications on the
national movement. (Answer in 150 words)

iy 89 % Yo sifteen o fasm Fifte | (150 w=ei 8§ 3w dfm)
Discuss the geophysical characteristics of Circum-Pacific Zone.
(Answer in 150 words)

TEEUER % WhH ) SToramEtas Had o adt | saeel afe it fag
$ifSm | (150 wegt # I dife)

The process of desertification does not have climatic boundaries. Justify with
examples. (Answer in 150 words)

femrer % RoFmEl % faer =1 wra % Ja-wae | e yor gomht swE g 2

(150 Wi # I difom)
How will the melting of Himalayan glaciers have a far-reaching impact on the
water resources of India ? (Answer in 150 words)

FAAH ¥ oiie w@ 3 I ) F= me $ wa @ oy w5 sewen afya s
qAT$Y | (150 vregt ® I Afvrg)

Account for the present location of iron and steel industries away from the
source of raw material, by giving examples. (Answer in 150 words)

qR-HIEPae WRAE AT H angd ¥ w0 SRy i TrEfeEa gHw @ s 2 s
Tfza faega s G 1 (150 weat § s Afm)

Has caste lost its relevance in understanding the multi-cultural Indian
Society ? Elaborate your answer with illustrations. (Answer in 150 words)
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Q9.

Qlo.

Ql11.

Q12.

Q13.

Q14.

Q15.

Sifers-19 HEE ¥ WK § w1 srEwEarel e T i 2 @ 2 ) Roeh Hifs

(150 T=ai # IR &)
COVID-19 pandemic accelerated class inequalities and poverty in India.
Comment. (Answer in 150 words)

1 29 wewd 2 fF v d éﬁwaﬁgﬁwﬁmwwmm@?ﬁ
2 23 Hifem | (150 wsal & SR Afvm)

Do you agree that regionalism in India appears to be a consequence of rising
cultural assertiveness ? Argue. (Answer in 150 words)

AR 2 UE 900 3 R W <l Hean iR SR 3w IR wen §
wewaet yfr fieng & | fad=mn Hiftm | (250 wisgt i I @)

Indian philosophy and tradition played a significant role in conceiving and
shaping the monuments and their art in India. Discuss. (Answer in 250 words)

HAFHIA WA & Bt wfefdrs da 30 #@ & gy & gfakm § ) Rooft
Hifsm | (250 wegt & I o)

Persian literary sources of medieval India reflect the spirit of the age.
Comment. (Answer in 250 words)

1920 % T ¥ U STiga 3 w3 J=nit gmsi w1 agor fen offt sroem amnfyies
amyw sgrn | fadsm fiftre | (250 wsdl 3 3w )

Since the decade of the 1920s, the national movement acquired various
ideological strands and thereby expanded its social base. Discuss.
(Answer in 250 words)

A B 9 § ST @, 97 i it Ja-aies S sg-em st
TS T SGgE THIYH & Tehdl ] | SArel=HIcH® qher iR |

(250 I} H I Afore)
The interlinking of rivers can provide viable solutions to the multi-dimensional
inter-related problems of droughts, floods and interrupted navigation.
Critically examine. (Answer in 250 words)

T § gyasta It S e W e wi e oft aftifea €, § s
|G & RO a1y | Torh e % 3um oft gase | (250 wsdl § SR i)
Account for the huge flooding of million cities in India including the smart ones
like Hyderabad and Pune. Suggest lasting remedial measures.

(Answer in 250 words)
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Q186.

Q17.

Q18.

Q19.

Q20.

ARE § W et H T awed § gt W ewm § aefir fmad € 1 e
ol IR | (250 wedi § I Afdm)

India has immense potential of solar energy though there are regional
variations in its development. Elaborate. (Answer in 250 words)

qRA % o4 "ol i Rl @ oy aimdd w3k aiomft swrEl &1 ade
e 1 (250 weE) o I i)

Examine the status of forest resources of India and its resultant impact on
climate change. (Answer in 250 words)

w9 ¥ fafqum @ wgeEr dwfiew % e Gwe § § 2 offempi sw
&fe 1 (250 wedl § 3 i)

Is diversity and pluralism in India under threat due to globalisation ? Justify
your answer. (Answer in 250 words)

fifg-farat @ wornedl g a6 B gEH @ WY IE g3 8 | # M 3EE
wETa € ? (250 wea1 H I difm)

Customs and traditions suppress reason leading to obscurantism. Do you
agree ? (Answer in 250 words)

ra # ffrea vea 3 e woor @ 2w i fien s % 9@ § aree e g 2
forga I T ) (250 TGl @ W o)
How have digital initiatives in India contributed to the functioning of the

education system in the country ? Elaborate your answer.
(Answer in 250 words)
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